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The appeal of advertising to buying motives can have

both negative and positive effects. Consumers may be convinced

to buy a product of poor quality or high price because of an ad- Section1
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vertisement. For example, some advertisers have appealed to

people’s desire for better fuel economy for their cars by advertis-

ing automotive products that improve gasoline mileage. Some of
the products work. Others are worthless and a waste of consumer’s
money.

Sometimes advertising is intentionally misleading. A few [ |
years ago a brand of bread was offered to dieters (9 8 & with ‘
the message that there were fewer calories (4 #.4 , K £ ) in
every slice. It turned out that the bread was not dietetic (i 4 F
M), but just regular bread. There were fewer calories be-

cause it was sliced very thin, but there were the same number of _ Section 2 B
calories in every loaf. L] VR IHM.HMNAA L F MR
, .
On the positive side, emotional appeals may respond to a ’ e EAF @,

consumer’s real concerns. Consider fire insurance. Fire insur-
ance may be sold by appealing to fear of loss. But fear of loss is

the real reason for fire insurance. The security of knowing that

property is protected by insurance makes the purchase of fire in-




surance a worthwhile investment for most people. If consumers /{,},ﬁ_
| /
consider the quality of the insurance plﬂs as well as«the message | %J'-
|

in the ads, they will benefit from the adverhsmg

Each consumer must evaluate her or his own situation. g

Are the benefits of the product important enough to justify buying

it? Advertising is intended to appeal to consumers, but it does

s AL RS A |
CE AL 3

not force them to buy the product. Consumers still control the fi-

! Section 3
i
|

nal buying decision.
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Violin prodigies (#i % ), I learned, have come in distinct [
waves from distinct regions. Most of the great performers of the B
late 19th and early 20th centuries were born and brought up in
Russia and Eastern Europe. I asked Isaac Stern, one of the
world’s greatest violinists, the reason for this phenomenon. “It is Section 1 ;
wvery clear,” he told me.“They were all Jews (Jt & A ) and Jews RARE 2 — REATED |
| at the time were severely oppressed and ill-treated in that part of LA R, }
the world. They were not allowed into the professional fields, but

they were allowed to achieve excellence on a concert stage.” As a

result, every Jewish parent’s dream was to have a child in the

music school because it was a passport to the West.

Another element in the emergence of prodigies , 1 found , e
is a society that values excellence in a certain field and is able |
to nurture (177 ) talent. Nowadays, the most nurturing societies

seem to be in the Far East.“In Japan, a most competitive soci-
Section 2

AAREL = ARG ART

. . : BH—AFE—REHeh |
cluding music. When Western music came to Japan after World HUE A A F £ A4 f

ety, with stronger discipline than ours,” says Isaac Stem, “chil-

dren are ready to test their limits every day in many fields, in- T

War II that music not only became part of their daily lives, but it I
became a discipline as well."_ The Koreans and Chinese, as we
know, are just as highly motivated as the Japanese.

That’s good thing, because even prodigies must work |

hard. Next to hard work, biological inheritance plays an im- Section 3 {
i

portant role in the making of a prodigy. ].S.Bach, for example, | BB RRE A FOEA—E

was the top of several generations of musicians, and four of his W —ERK, {

sons had significant careers in music.
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(1) What is the main idea of the passage?

(2) What is the author’s purpose in writing the passage?

(3) What is the passage mainly about?

(4) Which of the following statements best expresses the main idea of the passage?

(5) Which of the following can be the best title of the passage?

(6) Which of the following best summarizes the author’s opinion?

EER -RXCTER-DBEE L, R E SRR B, H R B X R 8 A0 ik 7 =X i) A 8] i A B
AT, SRV A, S0 s BEYA Y 5l F LA 3 B4 (topic sentence) A TE 2 i BE,
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35. The passage is mainly about

(1) The appeal of advertising to buying motives ¢an have both negative f§-—— g
A) how to make a wise buy-

ing decision

and positive effects.(...)

(2) Sometimes advertising is intentionally misleading.(...) .
(3) On th itive sid ional al P S B) ways to protect the inter-
Li] s il t “on-

n the positive side, emotional appeals may respond to a con ests of the consumer

C) the positive and negative

,,,,,,,, aspects of advertising

D) the function of advertisements
in promoting sales

sumer’s real concemns.(...)

(4) Each consumer must evaluate her or his own situation.(...)
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(D Violin prodigies have come in distinct waves from distinct regions.
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@ Another element in the emergence of prodigies is a society that values excellence in a certain field and is
able to nurture talent.
1 35 AL o 350 AR 01 £ (R 7 2 4 g T BE AR A 20 AR . (0 MRS 1 ) At — B AR A —
i A9 : “... even prodigies must work hard. Next to hard work , biological inheritance plays an important role in the
making of a prodigy.” # it 4} 1 , 1248 3C B i B A7 475 3OMTE Xk 3 1 1 452 ) , 3 A< o [ 25 7
30. Which of the following titles best summarizes the main idea of the passage?
A) Jewish Contribution to music. C) Music and Society.
B) Training of Musicians in the world. D) The Making of Prodigies.
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Where do pesticides fit into the picture of environmental
disease? We have seen that they now pollute soil, water, and
food, that they have the power to make our streams fishless and )
our gardens and woodlands silent and birdless. Man, however
much he may like to pretend the contrary, is part of nature. Can : " /lleﬂ WA kB Rk 1
he escape a pollutwn that is now so thoroughly distributed f§ ; 7 FE 55 g do Be B 69 BRI |
throughout our world? E PART ik, 5

-

We know that even single exposures to these chemicals, if
the amount is large enough, can cause extremely severe poison-
ing. But this is not the major problem. The sudden illness or
death of farmers, farm workers, and others exposed to sufficient
quantities of pesticides are very sad and should not occur. For
the population as a whole, we must be more concerned with
the delayed effects of rbing small amounts of the pesticides ﬁ; amisrxrm, |
that invisibly pollute our world. e Ao
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What is the author’s overall attitude toward...?

What is the author’s opinion about...?

The author’s attitude towards the speaker’s remarks is...

What does the author think about...?

Which of the following is the author’s view on...?

Which of the following is the author’s advice to the reader? e

Why does the author say that...”
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The fridge is considered a necessity. It has been so since J§- - - !
t‘he 19.605hwhefn. packag:ad food first appeared with the label: E i:;f:g; 1}_)& d{ﬁﬁkmi‘% ;
store 1n the retrigerator. ! P o B
In my fridgeless Fifties childhood, I was fed well and & -

healthily. The milkman came daily;the grocer, the butcher ( A
75 ),the baker, and the ice-cream man delivered two or three
times a week. The Sunday meat would last until Wednesday and
surplu (#) 4 43 ) bread and milk became all kinds of cakes.
Nothing was wasted, and we were never troubled by rotten food.
Thirty years on, food deliveries have ceased, fresh vegetables
are almost unobtainable in the country. ‘
The invention of the fridge contributed comparatively lit-
tle to the art of food preservation. A vast way of well-tried tech- §

; Section 2 ’
Eﬁm%%#ﬁﬁ&%WTﬁ%
f

niques already existed — natural cooling, drying, smoking, salt-

ing, sugaring, bottling..
HRAZH , FEEFRSREL,

What refrigeration did promote was marketing — mar- e ,
keting hardware and electricity, marketing soft drinks, marketing § |
dead bodies of animals around the globe in search of a good
price.

Consequently, most of the world’s fridges are to be

found, not in the tropics where they might prove useful, but <
in the wealthy countries with mild temperatures where they are § 2%




climatically almost unnecessary. Every winter, milljons of
fridges hum away continuously, and at vast expensed,,  busily
maintaining an artificially-cooled space inside an ax’tiﬂcizilly;heat-
ed house — while outside, nature provides the desired tempera-
ture free of charge.

The fridge’s effect upon the environment has been evi-
dent, while its contribution to human happiness has been in-
significant. If you don’t believe me, try it yourself, invest in a

food cabinet and turn off your fridge next winter. You may miss
the hamburgers (X 4 ¢ ), but at least you'll get rid of that terri-
ble hum.

12. Why does the author say that nothing was wasted before the
invention of fridges?
A) People would not buy more food than was necessary.
B) Food was delivered to people two or three times a week.
C) Food was sold fresh and did not get rotten easily.
D) People had effective ways to preserve their food.

13. Who benefited the least from fridges according to the author?

A) Inventors. C) Manufacturers.

B) Consumers. D) Travelling salesmen.
15. What is the author’s overall attitude toward fridges?

A) Neutral. C) Objective.

B) Critical. D) Compromising.
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was marketing...” . £ % £ 5%,
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A= W A SENEE
) (M) )y NBFFi,

It can be from the passage (the first, second...paragraph) that...

concluded

We know/learn from the passage that...
= Q=




It is implied from the first paragraph that... #

According to the passage, ...

The first(second,...) paragraph mainly discusses... & _

T 24 0 N A0 - AR B HE A 11 J5 00—k A9 8 0 2 DA SO B I i B v A SRR A AR S SR U A
B, u5AE T4l

It is, everyone agrees, a huge task that the child performs |, ; Se c*it;n 1 ‘ i Rl | ~;
when he learns to speak, and the fact that he does so in so 2 B B Uik 84 i :
short a period of time challenges explanation. : l - J

Language learning begins with listening. Individual chil- |
dren nggreatly in the amount of listening they do before they [
start speaking, and late starters are often long listeners. Most -
children will “obey” spoken instructions some time before they
can speak, though the word obey is hardly accurate as a descrip- ’
tion of the eager and delighted cooperation usually shown by the I
child. Before they can speak, many children will also ask ques- i
tions by gesture and by making questioning noises. ;

Any attempt to trace the development from the noises | ) g e
babies make to their first spoken words leads to considerable » Seéﬁon 2
difficulties. It is agreed that they enjoy making noises, and that | | BT FiENEE,
during the first few months one or two noises sort themselves out g S
as particularly indicative of delight, distress, sociability, and so
on. But since these cannot be said to show the baby’s intention to '
communicate, they can hardly be regarded as early forms of lan-
guage. ult is agreed, too, that from about three months they play- % "
with sounds for enjoyment, and that by six months they are able
to add new sounds to their repertoire(fi & i} ) 4= 7% % ). This 1
self-imitation leads on to deliberate (47 &% 2 /) ) imitation of - o
sounds made or words spoken to them by other people. The prob- 62 B IHRMB LA EEN i
lem then arises as to the point at which one can say that these f 154 U TL,ZER
imitations can be considered as speech. B | : B % “development” # it #2

A% Rstc. o L ABBRAZRERS”,
i
62. The third paragraph is mainly about % -

A) the development of babies’ early forms of language b ’ 64. EMF R AN, M=
B) the difficulties of babies in learning to speak i L BEOASTHEMHEZLIA
C) babies’ strong desire to communicate o ;’ @ s B LS E R —
D) babies’ intention to communicate ‘ RREHIES", EES
64. From the passage we learn that _____ - f =8 A T — A 4 “imitation”
A) early starters can learn to speak within only six months E . s Tix —id A2, HE,
B) children show a strong desire to communicate by making noises , [ 8 2 F A+ 4 B4 X A im-
C) imitation plays an important role in learning to speak ’ itation A # & & 2 f£ % iE
D) children have various difficulties in learning to speak v 1 (speak). 4= L&, B KT

|

<

VAR #,
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NG S PN 2 R A S5 AR 1 LR B & A I W, VU % ) 5 T IR R T A — R SR
bt A RAERE o LS PT I AP DU R A RS, T L S Y S R HE AR (B B YT AT R R A B
TR R S LA, 55 R LR TRK Bt A o . MR, A A 2 T I A - B SC
TEBKHS AR ARHERE I 2 PR 4 0 IR 22 R B TV ALART T

(2) 2810 T 785 '

X H AR ) T2 U, AN R] 25 4019 1) 5% 3R 1 (paraphrase ) , 1] i 52 5K 25 A 4 5 — 40 15 2EA T
A RIS HE VS AT R BRI W AR R R 4 0] o I BT i R O B R S HE AT (RS o )
PO SRS X L S R IR AT ) S i1 R N E 5 e LT P (1

We learn from the first (the second, third...) paragraph that

It can be inferred from the passage that

According to the passage,

It can be concluded from...’s remarks that

Which of the following words can best decribe...?

Which of the following is TRUE according to the passage?

ARSIk 248 A U2 4 % S U SR A A PO AR O R N 204 2 B o LA A e BIVFR AT BT U0 92 B
oo BB B AN WY 1R SORMUR R, 3 W TR

The concept of ‘“environment” is certainly difficult and §
may even be misunderstood; but we have no handy substitute. |

the surrounding environment ‘and to separate forces acting on an |

organism into those that are internal and biological and those that

[
| .
It seems simple enough to distinguish between the organism and | | can best describe the popular
: % understanding of “environ-
i

ment” as the author sees it?

and external and environmental. But_in actual practice this sys- A) Elaborate.

C) Faultless.
D) Oversimplified.

l
|

tem breaks down in many ways, because the organism and the [ ! B) Prejudiced.
environment are constantly interacting so that the environment is ; |
1

modified by the organism and vice versa( & Z 78 & ).
196 TP S

Q ~iv
FMEAEEEAMNGRAE - OGRM B RAA Y5 R BRE, AAIek R T ALY L& H 5 H A
S Fe SRR A kM8 A SRR AL TR R D A2 5 R AR ek,

Responsible public health officials have pointed out that
the biological effects of chemicals are cumulative (#. % #1) over
long periods of time, and that the danger to the individual may
depend on the sum of the exposures received throughout his
lifetime. For these very reasons the danger is easily ignored. It is

Dubos’ remarks that .

A) People find invisible dis-
eases difficult to deal with

B) attacks by hidden enemies
tend to be fatal

C) diseases with obvious signs

human nature to shake off what may seem to us a threat of future
disaster. ~ “Men are naturally most impressed by diseases which
have obvious signs,” says a wise physician, Dr._BeneDuhos,
“yet, some of their worst enemies slowly appfoach them: unno-

ticed.”

are easy to cure ~
D) people tend to overlook)
hidden dangers " caused

by pesticides

=11 =

|

40. It can be concluded from Dr. |




@ ~ir
ﬂﬁ)@*ﬁﬂ?‘*‘ﬂﬁ%%i&‘K%E*%iﬁﬁi/ﬂﬂligﬂgﬁﬁ,ﬁﬁ%g‘*?ﬁﬁiﬁﬁ%iﬁﬁﬁﬁ]ﬁﬁﬁﬁ
L & g

A0 V5 DT A A 73— el TR R 0 A ﬁ.ﬁbﬁﬁx!ﬁl995~2002"¥1ﬂ VU 25 4 L I 52 A o il Bk
W : 1998476 1 45248 FI 19984 1} 45 16481, FL4 ) sk Y .

Which of the following statements is true? (24}5i/98.6)

A modern newspaper is remarkable for all the following except its .(165/98.1)

SR AR R 22 T A A ST JLAE () DU % A0 v R /0 | Dt PR A [ 35 4% 3 5 W 3R 25 4 50 3 9
% : “Which of the following is not true? ", “Which of the following is not included in the text?”, ¥4 “The following
statements are true except ...” X JLATER, 26058 A R KA . PR A I A g = A2 g w
BT URSC TR PR OB S . HEBR — A BTN 4 K RO A 0 R R X R B R LR AT
Q0 e 3 SRS 11y 4 R TP AT AR BE3% L 4 4% N Which s true according to the passage? B, %
PR AU SR B L A B X KTE 2, 0 199846 1 (1924550 1 J 2K LU B - 2 B K 2 35, 76 0 AS

R,

3. 5 2 R R X o

G0V SR 2 1) Jy 3R R0 2008, % %2 5 B SC 1) 4% R LU A 15 I ) M R R 0 Xk
BRI — A SRS KU 2 R — SRR A A SO R PR AR A (LA i, A T R L A T
SCHR B A 66 B 107 FH 32 ] 14 1] S i) 55 7t 88 (paraphrase ) , £ 5 Rl 50 F L 2 25 5 S A S 150 T 9 M2 (0400 Vil P 22
PR B) 4k XS WIS A4

N 1
BANBEROWAREA, |
58. Why did the author begin to
After a year or so, however, [ still hadn’ gotten a break | doubt himself after the first |
and began to doubt myself. , It was so hard to sell a story that year of his writing career?
barely made enough to eat. But I knew I wanted to write. I had A) He wasn’t able to produce
dreamed about it for years. I wasn’t going to be one of those peo- ; a single book.
ple who die wondering, What if? 1 would keep puting my dream | _B) He hadn’t seen a chance
to the test—even though it meant living with uncertainty and fear for the better.
of failure. This is the shadowland of hope, and anyone with a C) He wasn’t able to have a
dream must learn to live there. rest for a whole year. }
D) He found his dream would
never come true. |

@ =it
il 4 5 R & 4 L 3T F — ) break #5M, break A E A MAEL", K LR AMLESEAR

B\t ALAF 45 9 i %, “hadn’t seen a chance for the better” & #+ “hadn’t gotten a break” 84 ## £ .

ISR D B SR A BE AN (BRSO 4 AS SR 00 1 Ak 33— T S ol A Rk, FLA
FEANAE L 55— Jr ik o — R SR A0 K WA A, R 2 ol M AR AE AR DL L P A R
AEAR 22 16 1) A" B M SR 1) A o D9 1 S 23— [, 2 7 o 0 U (skim ) 4% S 1 4%, b o 8 1 52 o 0 35 11
AR AT S, ORE A 0 MG IR H IR 2 kK Y A TR

T R A S A

(1) 5 EB REA KM T L9257, W2 511 A L8 25 0% A 7E 5 5 B L 1 4 - for exam-
ple, that is, a case in point, it is essential %% ;

(2) K/RIHE X R B, I :because, since, so, therefore, with-%ji5 | and, as a result, result in, stem

Badii , a

=10 =




from, in that, derive from %, AK H 5 Wﬁ%%ﬁi&ﬁ%

(3) RARFEYTX 3L X R 935 , 0 : while, howerer, but al_, ough,
the contrary %, b, e T

4380 518 X KR R R R R e

W%ﬁﬂi%%ﬁ%iﬁmﬁ*?i:iﬁﬂﬁﬂ ﬁﬂ%iﬁ“f‘ﬂ‘lﬁﬁﬁ HPEDOE S B G TS T i
ﬁﬂ’iﬁﬂ\g)(ﬂ‘ﬁéﬁ"—].t\%o H H LE PR R 24K B T SO s L& X (contextual meaning ) , V) 2 W 75 B L 8§
L5 5"

R A L 52 1, 1995~200241 11 1545 DU 4% B8] i3 %5 1 v 85 R il a3 S 11 R AL 35308 , 111 485 ok KAk 4 b
=2:

(1) o) SCHEINRL 2080 780 5 B 3 i) A SO A ) 39 S, L o) 5 A

et, still, in fact, on the other hand, on

The word “...” most probably means/refers to “
The word “...” stands for ____

The phrase “...” is closest in meaning to “
According to the passage, the phrase “...” means

The phrase “...” probably refers to
XRHBICAT 1818, Horp RJUE —Fh R B RGBT 108, B

20024E1H 310 [ #inl Bt X ] 20004124 3348 [ 24 il B X ]
20004E6 S48 [ a4 X ] 20004 1 H 3938 [ ik X | -
19994E6 7 2848 [ /il ¥ X ] 1999461 J 3888 [ A: il ¢ 3 |
19984E6 1 238 [ #inl /4t X | 19984E 1 H 1448 [ A: i8]
19964E 1 58 [k BEX ] 36/ [ 4 il B X ]
1995467 33 [ #ialk X ] 199548 1 A 23/ [/Eial# X ]

H1 E R GE T, DU 2R 1 52 4 LB Y ) SCIBELA AR B B Sk ﬂﬂﬁ&ﬂﬁLFﬁCfi’)%%?ﬁ%’lw]xE%’f
R 30 T R ) A

— RBOK T, DU R e B 0 A ) 0 & SCRT BA B 3o LR B Ry o )

OM8E 1-F 3T R . .

Learning to read involves all that each individual does to 18, "The: word “senutiny” (Line 8, |

g s |
make sense of the world of printed language. Almost all of it is Para.3) most probably means !
% 5 [

private, for learning is an occupation of the mind, and that pro-

. 5 Y.
cess is not open to public scrutiny.

A) inquiry C) control
B) observation D) suspicion j

Q ®iv

£ X 4% 1 “Almost all of it (learning) is private”, F 3 X 4% t “that process (learning) is not open to public
scrutiny.” 4y & T JL, public scrutiny 5 private 5 48 % #9864 . 4o R 4§ 14 50 b 49 99 4 5] % # scrutiny, 7T 24 ) B R
AB) &R X,

QFE EFXMEEXE. Hin:

36. The word “imperative” (Line 5,
.. In fact, they say that if their companies are to compete sy ve (Lne

bably refe
in the global village and in the global market place, diversity is Pl RIS s b

|
]
o SRR : |
an imperative ... { something . ‘
{ A) superficial C) debatable Z
Y

B) remarkable D) essential |

— 13 =




Q At ’

e &SP %A AR 39 30 ST VA4 B3 & 4R B imperative #) & S, 12 AR 4 9% 4) HIEH/E R RN AR
f?\%é&ﬁ%éﬁi&,5#4&%#‘7",é]ﬁb#ﬁﬁﬁ,ié&/ﬁﬁt;“:“d&%éﬁ,'JZ:%‘#‘J"%%O B D) & A EHRE R

SO0 10 5 40 90 S L SR PR A K AAT T AR R S0k M B b B PR
P A 4 T L - 25 BUR S T R B A 2 76

(20 R, 8B T B (paraphrase) B T 95 ) o 32638 60— BULAT LT AR

(D)5 507 7 B R DA X

A 552X A VY AT — A S 5 T

i L T P AE 7 X

i 24 55 1, 421995~20004¢ 2 P Ml eh B it XUHE 3 (I SE 10 . BAE B0 -

55. By saying that “an American
A status has been compared to ready-made clothes. With- | .
. 2 is not free to choose the cos-
in certain limits, the buyer can choose style and fabric. But an

; ; . tume of a Chinese peasant or
American is not free to choose the costume (W) of a Chi-

that of a Hindu prince” the

nese peasant or that of a Hindu prince. We must choose from a- .
- writer means

mong the clothing presented by our society. Furthermore, our A} different peie Bave
choice is limited to a size that will fit, as well as by our pocket- Ta
ferent styles of clothes

B) ready-made clothes may need

alterations

book (4% ¢.). Having made a choice within these limits we can
have certain alterations made, but apart from minor adjustments,

we tend to be limited to what the stores have on their racks. Sta- |
) : C) statuses come ready made
tuses too come ready made, and the range of choice among them = -
just like clothes

is limited.

1997.1.P.1 | D) our choice of statuses is
TR limited

Q it
N S Ll L L S stV LSRR L EL DR S
AR — A — AR B8 LA R AR

HoAth A 05 21 -
199941 H 26/ 199841 F 24/t

19974F6 H 1118 19974F 1 H 59/81 .61/

199646 J 538 19954F 1 /1 22181 |38} .40/ .

SN A R RN, o T Y R A SO T B s B R R B A X LA B AR, R E S
BT ) -2 by, A T DR ) - 45 4 3 7 R TS SR 4 T

(3) 8 SCHG AR ik R B ¥ A A R AT LR R R I B AIRE T 5 18 (reference ) J& 1 & 7 it
T JH 40 i) (substitute word )88 1 3C i BE i1 44 i) 5%, 4% 7] 45 17 (referent) 5 fF F ik o B ARIA — 2R,
it, they, them % ] DL il o 420 07 50— A -

The word “it (such, they, that...)” refers to /! stands for “__

”

What does the word “they (them, it, he,...)” refer to?
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